Efficiency vs dr

0.1

ficiency vs AR
o O o

Ratio

—e— DQM_mkFit_baseline6iter
—— DQM_mkKFit, 2_WP1_6iter_ep3

HEAN |

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.02

00.018F
= E
3.016F-

D.014F
> o
9D.012F
q_) -
o -
£ 0.01:
5} o
0.008|

0.006F-
0.004F-
0.002F-
1.0

Ratio

[y
TTTT] T

0.953 .
10~ 1072

-1

1
AR(TP, jét)

Efficiency vs pu

= 0.05
o S TN O WO L T
ity N R S
R T
Q . . . . . .
e S A s S &
= : : : : : :
B S A R &
0,025+ oovbors b
7 K ST R A o 11
0.015F----5-++-13
0.0
0.005

iy
PP PP
P

4

o
NJo
O[T T




	Contents
	Page 1


